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(8) bmoH$g§»`m - bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU
1) 12 ì`m Am{W©H$ df© `moOZoA§VJ©V NHM gmR>r Imbrbn¡H$s gd© C{Ôï>o hmoVr.

1) IMR 25/1000 {Od§V OÝ‘m§n ª̀V H$‘r H$am
2) MMR 1/1000 {Od§V OÝ‘m§n ª̀V H$‘r H$am
3) TFR 1.2 n ª̀V H$‘r H$am
4) ‘bo[a`mMo dm{f©H$ à‘mU 1/1000 Agob

1) ALL of the following were the targets for NHM under 12th FY plan EXCEPT :

1) Reduce IMR to 25/1000 live births

2) Reduce MMR to 1/1000 live births

3) Reduce TFR to 1.2

4) Annual malaria incidence to be 1/1000

2) 2011 ‘Ü¶o ............ ‘Yrc ~mc ‘¥Ë¶yXa gdm©{YH$ hmoVm.
1) Amgm‘ 2) npíM‘ ~§Jmc  3) amOñWmZ 4) ‘Ü¶àXoe

2) The Infant Mortality Rate (IMR) was highest in 2011 in ......

1) Assam 2) West Bengal 3) Rajasthan 4) Madhya Pradesh

3) RCH H$m ©̀H«$‘m§VJ©V à‘wI hñVjonm§‘Ü ò dJiVm gd© g‘m{dï> AmhoV :
1) AË`mdí`H$ àgyVr H$miOr
2) bgrH$aU
3) ‘wbm§‘Ü ò Aeº$nUm à{V~§Y Am{U {Z §̀ÌU
4) d¥Õm§‘Yrb Ag§gJ©OÝ` amoJm§Mo à{V~§Y

3) The major interventions under RCH programme includes ALL EXCEPT :

1) Essential obstetrics care

2) Immunization

3) Prevention and control of anemia in children

4) Prevention of non-communicable diseases in elderly

4) EImÚm XoemMr ì`mdgm{`H$ aMZm doJdoJù`m ì`dgm`m§Zwgma Ë`mMo {dVaU qH$dm {d^mJUr Xe©dVo.
1) bmoH$g§»`m 2) ‘mb‘Îmm 3) g§nÎmr 4) CËnÞ

4) The occupational structure of a country refers to the distribution or division of its according to

different occupations.

1) population 2) property 3) wealth 4) income

5) ‘mZd {dH$mg {ZX}em§H$ (HDI) `m§Mm g‘mdoe hmoVmo
1) ~mb‘¥Ë ỳ Xa 2) {Zìdi àOZZ Xa
3) OÝ‘mÀ`m doir Am ẁ‘m©Z 4) An§JËdmMr df}

5) Human Development Index (HDI) include

1) Infant Mortality Rate 2) Net Reproductive Rate

3) Life Expectancy at Birth 4) No. of years of disability
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6) à{V S>moHo$ H$‘r dmñV{dH$ CËnÞ Zoh‘r CËnmXZmV Jw§Vboë`m H$m ©̀aV bmoH$g§» òÀ`m H$‘r à‘mUmV Am{U àmW{‘H$
CËnmXZmV Cƒ Q> o̧$dmarer g§~§{YV AgVo.
1) ‘mÜ`{‘H$ 2) ‘yb ŷV 3) V¥Vr`H$ 4) àmW{‘H$

6) Low real income per head is always associated with a low proportion of the working population

engaged in production and a high percentage in primary production.

1) secondary 2) basic 3) tertiary 4) primary

7) {dYmZ (a) … ^maVr¶ AW©ì¶dñWm hr àm‘w»¶mZo J«m‘rU AW©ì¶dñWm Amho.
{dYmZ (b) … 2011 OZJUZoZwgma XoemVrb J«m‘rU bmoH$g§»¶m Odinmg 83.25 H$moQ>r (EHy$U bmoH$g§»¶oVrb
68.8%)
n¶m©¶r CÎmao …
1) {dYmZ (a) gË¶ Amho na§Vw (b) AgË¶ Amho.
2) {dYmZ (a) gË¶ Amho na§Vw (b) gË¶ Amho.
3) XmoÝhr {dYmZo (a) Am{U (b) gË¶ AgyZ (b) ho (a) Mo ¶mo½¶ ñnï>rH$aU Amho.
4) XmoÝhr {dYmZo (a) Am{U (b) gË¶ AgyZ (b) ho (a) Mo ¶mo½¶ ñnï>rH$aU Zmhr.

7) Statement (a) : Indian Economy is primarily a rural economy.

Statement (b) : As per, 2011 census the rural population of the country is about 83.25 crores

(68.8% of the total population).

Answer options :

1) Statement (a) is true but (b) is false.

2) Statement (a) is false but (b) is true.

3) Both statement (a) and (b) are true and (b) is the correct explanation of (a).

4) Both statement (a) and (b) are true and (b) is the incorrect explanation of (a).

CÎmao

(8) bmoH$g§»`m - bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU

1-3 2-4 3-4 4-1 5-3 6-3 7-3


